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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the gquestions

1. Answer the following as directed (any ten) :
1x10=10
TeTe e o Pt ee it (R et wed) -
(a) The property of a proposition is truth/
validity.
( Choose the correct answer )
o B (R TS / 34 |
(7 TEA! Mk Trear )
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(b)

(c)

(d)

(e)

(f)

(g
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(2)

“Logic is concerned primarily with
argument forms and secondarily with
argument.”” Is this statement true?

“HREE gE e WA (T WiE
GhTeIR I Tee wfes I a2 Sfeh! o ?

Which term is distributed in an ‘O’
proposition?
‘O’ TS (FIFD! *M IS W7

What is the symbolic form of universal
affirmative proposition?

SN TTYLF I5AT ARIST P fF2

Can an ‘A’ proposition be converted
simply?

‘A’ INT TS IS I AR ?

Which two terms are present in the minor
premise of a syllogism?

GB! PR *PF A=Y IHTS SRS B! 9B e
9 Sy 4

Which type of opposition is there between
‘E’ and ‘T" propositions according to
Aristotelian logic?

9B TNy HREm wPR E’ W T I
Tws & e Rrafie ang?

( Continued )

(h)

(i)

()

(k)
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( 3)

An immediate inference has one/two/

three premises.
( Choose the correct answer )

Y SIS a5t / ot / FefB SR T

T |
(ww Seat! fR Sferear )

Syllogism is an immediate inference/
mediate inference.
( Choose the correct answer )

TR G5 S / G S |
(®m eIl AR Tfersd )

The predicate of the conclusion of a

syllogism is called
( Fill in the blank )

9B e PR Rem sme I @RI

|
(A 5 AT T4 )

“In an inductive inference, the conclusion
cannot be more general than the

premises.”” Is the statement true?

“ Bl IS A PRGSOl
Q@M% e 37 @RE T GRS TN ?
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( 4 ) (S

() 1s the syllogism valid, when both the

(g) What is the symbol used for ‘belongs to’
premises are negative?

in set theory?

fenl 9Bl HFT R Wy I Fwds 7, el oo wwEfe’ LRl SR 67
cofeal [RG! @Y WH?

(r) Symbolize the given proposition by means

(m) Name the figure in which DARI is a valid of set notation :

mood. No Americans are philosophers.
DARI R cgiee @ %, o1} Siegmos A frfafs o0 2SO RIS A
ferar S
. @ RSP w2y A T |
(n) State the position of the middle term in
the Fourth figure of a syllogism.
2. Answer the following questions (any five) :
TRE 59¢ AHT (TP R F0G! S@EL 4 | v ¢4 2x5=10
were il TR & eIt #Awbt) ¢
(o) The First figure of syllogism is also called oS ] kil )
as ____ figure. (a) What is formal truth?
( Fill in the blank )
JiFsTS ool I &g ?
T AT AZ! AF s @Rl
= (b) State two differences between deduction
(4 oi 3 4 ) and induction.
ONCE RG] |
(p) How many circles are to be drawn to test SR W1 kil
the validity of a syllogism through Venn 58
di i LR = (c) What are the two important conditions of
lagram?

a valid argument?

(on 5@ wams Wbt v et fdy it
(P! Jq WP I ACH? ) L St b i

, Turm Over
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6
( 6 ) (7 )

(d) Give an example of a valid
. P . argument 3. Answer the following questions (any four) :
having true premises and a false conclu- 5x4=20
sion.
wors il e Bad ol (R Geiea Bifo) -
e} SR I/ WF WG] a1 <G5l Ay istinguish b deductive and induc-
Req Bz | (a) I?lstmgms etween deductive an
tive arguments.
(e) Define particular affirmative proposition fsrriere 3fe S TS e Twe =
with the help of an example. ey fady =1
B TMIZIT TS ey el qowra sigedt ot | () How many figures are there in a syllogism?
) Illustrate the figures of a syllogism in linear
(f) What is meant by ‘mood’ of a syllogism? form. 1+4=5
T IS et & @2 T R @17 @ REE
FRFARRD! AP T

(g) Write the names of four valid moods of

First figure of syllogism. (c) What is simplification of propositions?

Simplify the following sentences into

TR AT FFNI BifeGI QY gRE A fort
™= ! logical form (any three) : 2+3=5
(h) Give example : Fallacy of undistributed o AR I e 3e? fRafie 3R
middle. @25 oy e A F (R I
TzA R SR @g oM G | fefito) -
_ (i) Al good authors are not good
(i) State any two rules of syllogism. speakers.
T3 R @ o R S w4 NI O (@74F ©fF 6T T |
. i) Only the intelligent persons can pass
() State tw th - i
o o methods of representation of the examination.
] @ e AR @3 drwre T
R o A1 o T 9B TS Seard 9 23 A |
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( 8 ) ( 9 )

jii) Most of the students are honest.
(iii) Mos F: SHagents; Bye: NORCS] 4. Answer the following questions (any four) :
@il 2@ 7R | 10x4=40
: _ oS ol epTyRd Sed fordl (U Ie! sifabl) :
(iv) Wise persons are always revered.
(a) What is an argument? Explain the relation
A e e ffes | between argument and argument form.
‘ . T B Ife OF e ST TR
(d) What is the middle term? i * '
middle term? What is the role o A 34 |

of the middle term in a syllogism? 2+3=5
(b) Write an essay on the relation between

* I 67 951 S i 52

s RERTH L truth and validity.

SoT! W (Aol STeda AT @sifa a5 T |
What is a syllogism? Briefly explain the
fallacies of syllogism.

T W 67 VI @LHR HLE AT 340 |

(e) What do you mean by opposition of
proposition? (c)

R Reafge e & g=?

(f) State the special rules of the Third figure (d) What is conversion? Define conversion by
of a syllogism. negation. State the rules of conversion.
TR SO e e ez S w4 2+2+6=10
R W 7 e s ket @l |
(g) Distinguish between immediate and TS TR S 9
HRETUAtEs JISTeneE: (e) Explain the square of opposition with the
TG WIE TGN S qwrs oAy fady help of diagram.
hal o TS Ao R asfewas o 4 |

(f) Tlustrate AEIO propositions with the help
of Venn diagram.

vod 7
vd wER Rew Freewe Swy w9 (o foq@ 72AS AEIO a5-Pz el 34|

(h) State the special rules of the Fourth figure.

A23/454
/ ( Continued ) A23/454 ( Turn Over )



' 16 ) ( 11 )

(i) What is set? Explain with examples how
the traditional AEIO propositions are
symbolized with the help of set notations.

ezfs A 7 s@=[Ie AEIO 3558 TS
T RS @EE  ASdeAT ¥ W,
TARAPTE. I T4

(g9 What is venn diagram? Explain the 3
method of testing the validity of an 4
argument by using the Venn diagrammatic
technique.

o a1 T @E? (oA BF orates awle I
gfiea tarel ffa 34 AfEE I ¥

() What is operation of sets in set theory?
(n) Prove the validity of the following Explain various operations of sets.

arguments using the Venn diagrammatic SNeafoogs NeEhex Afed W 7 Afes
N N :

technique : 5+5=10 Rifew sfeat et 341
(s 5@ ~rafe e 3 fmfEke e @aee
e 4 -

(i) All mathematicians are wise.
All philosophers are mathematicians.

. All philosophers are wise.
Fere sfrea zw @Ml |
s wfas zm afoem

. S v zm @ |

(ii) All Indians are patriots.
Some patriots are not social reformers.
. Some social reformers are not Indians.
FHCE SRS T A |
frgw el T T - AR |
. g TE-nEes T2 SRl |
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